

**BID TABULATION**

**BID NO. 2016-2**

**SW Real Terrace to SW Bascom Norris**

<b>Company</b>	<b>Bid Amount</b>
Curt's Construction	\$1,581,772.46
Anderson Columbia	\$1,676,130.67

C. Ray Hill  
Purchasing Director

**COLUMBIA COUNTY BOARD OF COUNTY COMMISSIONERS**  
**COLUMBIA COUNTY PROJECT NUMBER 2016 - 02**  
**ENGINEER'S PROJECT NUMBER L140710CCB**  
**SW Real Terrace – Roadway Construction**

Gentlemen:

The undersigned, as bidder, hereby declares that he has examined the contract documents and informed himself fully in regard to all conditions pertaining to the work to be done; that he has examined the specifications for the work and other contract documents relative thereto; and that he has satisfied himself relative to the work to be performed.

The bidder agrees, if this bid is accepted, to contract with the Columbia County Board of County Commissioners to furnish everything necessary to complete the work covered by this bid and other contract documents for the Columbia County Board of County Commissioners. The Contractor assumes full responsibility for all quantities used in his/her bid. The contractor shall coordinate his construction with all proposed utilities on the site.

Pay Item No.	Pay Item Description	Quantity	Units	Unit Price	Total Cost
0101010000	Mobilization	1	LS	101,700	101,700
0102010000	Maintenance of Traffic	1	LS	56,900	56,900
0104010030	Sediment Barrier	6554	LF	3.00	19,662
0104018000	Inlet Protection System	15	EA	150.00	2,250
0110010100	Clearing and Grubbing	5	AC	10,550	52,750
0120010000	Regular Excavation	6586	CY	11.25	74,092.50
0120020200	Borrow Excavation, Truck Measure	14704	CY	11.25	165,420
0120040000	Subsoil Excavation	1565	CY	19.75	30,908.75
0160010000	Commercial Stabilizing Material	488	CY	20.30	9,906.40
0160040000	Stabilizing (Roadway and Shoulder)	9412	SY	3.07	28,894.84
0285704000	Optional Base, Base Group 06	8138	SY	9.67	78,694.46
0286010000	Turnout Construction	309	SY	28.50	8,806.50
0327070010	Milling Exist Asph. Pavt., 1" Avg. Depth	651	SY	11.00	7,161
0334010120	Superpave Asphaltic conc., Traffic Level B	1932	TN	112.00	216,384
0400010200	Concrete Class I, Endwalls	2.2	CY	1,475	3,245
0425010000	Yard Drain	1	EA	1,030	1,030
0425013310	Inlets, Curb, Type P-3, <10'	4	EA	4,704.03	18,816.12
0425013410	Inlets, Curb, Type P-4, <10'	2	EA	4,848	9,696
0425014310	Inlets, Curb, Type J-3, <10'	2	EA	6,170	12,340
0425014410	Inlets, Curb, Type J-4, <10'	1	EA	6,290	6,290
0425015420	Inlets, Curb, DT Bot, Type D, >10'	1	EA	3,000	3,000
0425015440	Inlets, Ditch Bottom, Type D, J Bot., <10'	1	EA	3,857	3,857

**COLUMBIA COUNTY BOARD OF COUNTY COMMISSIONERS**  
**COLUMBIA COUNTY PROJECT NUMBER 2016 - 02**  
**ENGINEER'S PROJECT NUMBER L140710CCB**  
**SW Real Terrace – Roadway Construction**

0425015810 Inlets, DT Bot, Type H, <10'	1	EA	2,624	2,624
0425017010 Inlets, Gutter, Type S, <10'	2	EA	2,475	4,950
0425020410 Manholes, P-7, <10'	5	EA	2,924	14,620
0425020610 Manholes, P-8, <10'	2	EA	2,966.35	5,932.70
0425002062 Manholes, P-8, >10'	3	EA	4,355	13,065
0425020910 Manholes, J-8,<10'	1	EA	6,260.02	6,260.02
0430175118 Pipe Culvert, Round Conc., 18" S/CD	524	LF	44.35	23,239.40
0430175124 Pipe Culvert, Round Conc., 24" S/CD	1156	LF	51.00	58,956
0430175130 Pipe Culvert, Round Conc., 30" S/CD	1094	LF	65.70	71,875.80
0430175136 Pipe Culvert, Round Conc., 36" S/CD	145	LF	85.25	12,361.25
0430984129 Mitered End Section, Round Conc., 24" SD	1	EA	1,200	1,200
0430984138 Mitered End Section, Round Conc., 36" SD	1	EA	2,165	2,165
0440010200 Underdrain, Type II	460	LF	44.00	20,240
0520010100 Concrete Curb & Gutter, Type F	3672	LF	14.20	52,142.40
0520030000 Valley Gutter - Conc.	968	LF	17.45	16,891.60
0520050410 Traffic Separator Conc., Type IV, 4' Wide	300	LF	19.55	5,865
0530030400 Rip Rap, Rubble, F&I, Ditch Lining	233.6	TN	165.00	38,544
0570010100 Performance Turf	12924	SY	.28	3,618.72
0570010200 Performance Turf, Sod	5722	SY	1.86	10,642.92
0660002101 Loop Assembly- F&I, Type A	1	LS	1,400	1,400
0700001011 Single Post Sign, F&I, Less Than 12 SF	11	AS	375.00	4,125
0706030000 Retro-Reflective Pavement Markers	211	EA	6.75	1,424.25
0710011111 Painted Pvmnt Mrkgs, Stand., White, Solid, 6"	1	GM	975	975
0710011125 Painted Pvmnt Mrkgs, Stand., White, Solid, 24"	296	LF	3.25	962
0710011170 Painted Pvmnt Mrkgs, Stand., White, Arrows	24	EA	47.50	1,140
0710011211 Painted Pvmnt Mrkgs, Stand., Yellow, Solid, 6"	1	GM	975	975
0710011224 Painted Pvmnt Mrkgs, Stand., Yellow, Solid, 18"	173	LF	2.25	389.25
1050011224 Util. Pipe, F&I, PVC, Water/Sewer, 8 - 19.9"	4087	LF	33.34	136,260.58
1055011214 Utility Fitting, F&I, PVC, Elbow, 8.0-19.9"	1	EA	4,650	4,650
1055011414 Util Fitting, F&I, D/CI, Elbow, 8.0 - 19.9"	11	EA	625	6,875

**COLUMBIA COUNTY BOARD OF COUNTY COMMISSIONERS**  
**COLUMBIA COUNTY PROJECT NUMBER 2016 - 02**  
**ENGINEER'S PROJECT NUMBER L140710CCB**  
**SW Real Terrace – Roadway Construction**

1055011424	Util Fitting, F&I, DI/CI, Tee, 8.0 - 19.9"	4	EA	1,810	7,240
1055011454	Util Fitting, F&I, DI/CI, Cap/Plug, 8.0 - 19.9"	2	EA	287	574
1080011403	Util. Fixtures, F&I, 8.0 - 19.9", Tapping Saddle	1	EA	7,409	7,409
1080011404	Util. Fixtures, F&I, 8.0 - 19.9", Valve Assem.	18	EA	3,425	61,650
1080011406	Util. Fixtures, F&I, 8.0 - 19.9", Vac/Air Assem.	2	EA	5,550	11,100
1080011409	Util. Fixtures, F&I, 8.0 - 19.9", Mech. Jnt. Restrnt	56	EA	425	23,800
1644300000	Fire Hydrant, Install	5	EA	4,665	23,325
9999-01	Slotted Inlet	60	LF	175	10,500

**GRAND TOTAL** 1,581,772.46

ADDENDUM	
NUMBER	DATE SENT

<b>BID TOTAL FOR SW. REAL TERRACE  CONSTRUCTION</b> 1,581,772.46
-------------------------------------------------------------------------

**COLUMBIA COUNTY BOARD OF COUNTY COMMISSIONERS**  
**COLUMBIA COUNTY PROJECT NUMBER 2016 - 02**  
**ENGINEER'S PROJECT NUMBER L140710CCB**  
**SW Real Terrace – Roadway Construction**

Gentlemen:

The undersigned, as bidder, hereby declares that he has examined the contract documents and informed himself fully in regard to all conditions pertaining to the work to be done; that he has examined the specifications for the work and other contract documents relative thereto; and that he has satisfied himself relative to the work to be performed.

The bidder agrees, if this bid is accepted, to contract with the Columbia County Board of County Commissioners to furnish everything necessary to complete the work covered by this bid and other contract documents for the Columbia County Board of County Commissioners. The Contractor assumes full responsibility for all quantities used in his/her bid. The contractor shall coordinate his construction with all proposed utilities on the site.

Pay Item No.	Pay Item Description	Quantity	Units	Unit Price	Total Cost
0101010000	Mobilization	1	LS	\$181,675.65	\$181,675.65
0102010000	Maintenance of Traffic	1	LS	\$70,303.16	\$70,303.16
0104010030	Sediment Barrier	6554	LF	\$1.50	\$9,831.00
0104018000	Inlet Protection System	15	EA	\$100.00	\$1,500.00
0110010100	Clearing and Grubbing	5	AC	\$7,943.26	\$39,716.30
0120010000	Regular Excavation	6586	CY	\$8.97	\$59,076.42
0120020200	Borrow Excavation, Truck Measure	14704	CY	\$11.99	\$176,300.96
0120040000	Subsoil Excavation	1565	CY	\$20.36	\$31,863.40
0160010000	Commercial Stabilizing Material	488	CY	\$7.81	\$3,811.28
0160040000	Stabilizing (Roadway and Shoulder)	9412	SY	\$3.23	\$30,400.76
0285704000	Optional Base, Base Group 06	8138	SY	\$10.32	\$83,984.16
0286010000	Turnout Construction	309	SY	\$40.12	\$12,397.08
0327070010	Milling Exist Asph. Pavt., 1" Avg. Depth	651	SY	\$9.19	\$5,982.69
0334010120	Superpave Asphaltic conc., Traffic Level B	1932	TN	\$105.36	\$203,555.52
0400010200	Concrete Class I, Endwalls	2.2	CY	\$1,655.83	\$3,642.83
0425010000	Yard Drain	1	EA	\$1,455.32	\$1,455.32
0425013310	Inlets, Curb, Type P-3, <10'	4	EA	\$4,987.70	\$19,950.80
0425013410	Inlets, Curb, Type P-4, <10'	2	EA	\$6,019.48	\$12,038.96
0425014310	Inlets, Curb, Type J-3, <10'	2	EA	\$6,176.39	\$12,352.78
0425014410	Inlets, Curb, Type J-4, <10'	1	EA	\$6,078.61	\$6,078.61
0425015420	Inlets, Curb, DT Bot, Type D, >10'	1	EA	\$5,637.98	\$5,637.98
0425015440	Inlets, Ditch Bottom, Type D, J Bot., <10'	1	EA	\$5,749.49	\$5,749.49

**COLUMBIA COUNTY BOARD OF COUNTY COMMISSIONERS**  
**COLUMBIA COUNTY PROJECT NUMBER 2016 - 02**  
**ENGINEER'S PROJECT NUMBER L140710CCB**  
**SW Real Terrace – Roadway Construction**

0425015810	Inlets, DT Bot, Type H, <10'	1	EA	\$2,863.55	\$2,863.55
0425017010	Inlets, Gutter, Type S, <10'	2	EA	\$3,906.78	\$7,813.56
0425020410	Manholes, P-7, <10'	5	EA	\$3,173.40	\$15,867.00
0425020610	Manholes, P-8, <10'	2	EA	\$2,794.19	\$5,588.38
0425002062	Manholes, P-8, >10'	3	EA	\$5,248.29	\$15,744.87
0425020910	Manholes, J-8, <10'	1	EA	\$7,199.99	\$7,199.99
0430175118	Pipe Culvert, Round Conc., 18" S/CD	524	LF	\$42.02	\$22,018.48
0430175124	Pipe Culvert, Round Conc., 24" S/CD	1156	LF	\$49.85	\$57,626.60
0430175130	Pipe Culvert, Round Conc., 30" S/CD	1094	LF	\$73.21	\$80,091.74
0430175136	Pipe Culvert, Round Conc., 36" S/CD	145	LF	\$83.34	\$12,084.30
0430984129	Mitered End Section, Round Conc., 24" SD	1	EA	\$1,508.90	\$1,508.90
0430984138	Mitered End Section, Round Conc., 36" SD	1	EA	\$4,244.92	\$4,244.92
0440010200	Underdrain, Type II	460	LF	\$55.15	\$25,369.00
0520010100	Concrete Curb & Gutter, Type F	3672	LF	\$16.68	\$61,248.96
0520030000	Valley Gutter - Conc.	968	LF	\$20.29	\$19,640.72
0520050410	Traffic Separator Conc., Type IV, 4' Wide	300	LF	\$32.36	\$9,708.00
0530030400	Rip Rap, Rubble, F&I, Ditch Lining	233.6	TN	\$105.65	\$24,679.84
0570010100	Performance Turf	12924	SY	\$0.30	\$3,877.20
0570010200	Performance Turf, Sod	5722	SY	\$2.03	\$11,615.66
0660002101	Loop Assembly- F&I, Type A	1	LS	\$1,204.24	\$1,204.24
0700001011	Single Post Sign, F&I, Less Than 12 SF	11	AS	\$391.37	\$4,305.07
0706030000	Retro-Reflective Pavement Markers	211	EA	\$6.62	\$1,396.82
0710011111	Painted Pvmnt Mrkgs, Stand., White, Solid, 6"	1	GM	\$1,053.70	\$1,053.70
0710011125	Painted Pvmnt Mrkgs, Stand., White, Solid, 24"	296	LF	\$2.71	\$802.16
0710011170	Painted Pvmnt Mrkgs, Stand., White, Arrows	24	EA	\$42.14	\$1,011.36
0710011211	Painted Pvmnt Mrkgs, Stand., Yellow, Solid, 6"	1	GM	\$1,053.70	\$1,053.70
0710011224	Painted Pvmnt Mrkgs, Stand., Yellow, Solid, 18"	173	LF	\$2.11	\$365.03
1050011224	Util. Pipe, F&I, PVC, Water/Sewer, 8 - 19.9"	4087	LF	\$39.01	\$159,433.87
1055011214	Utility Fitting, F&I, PVC, Elbow, 8.0-19.9"	1	EA	\$287.58	\$287.58
1055011414	Util Fitting, F&I, D/CI, Elbow, 8.0 - 19.9"	11	EA	\$337.55	\$3,713.05



**COLUMBIA COUNTY BOARD OF COUNTY COMMISSIONERS  
COLUMBIA COUNTY PROJECT NUMBER 2016 - 02  
ENGINEER'S PROJECT NUMBER L140710CCB  
SW Real Terrace – Roadway Construction**

**ALL ITEMS MAY BE INCREASED, DECREASED, OR OMITTED AS DIRECTED BY THE ENGINEER.**

ALL MATERIALS AND CONSTRUCTION SHALL CONFORM TO BOTH THE REQUIREMENTS OF THE LATEST FDOT STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION AND THE LATEST FDOT DESIGN STANDARDS.

ALL INCIDENTAL WORK INCLUDED IN THESE ITEMS  
ALL UNIT PRICE AND TOTAL SPACES MUST BE FILLED IN TO CORRELATE WITH EACH ITEM

Note: contractors shall be in compliance with chapter 489, Florida statutes, licensure requirements.

Florida construction industries licensing board certification.

E. Tony Williams Jr.  
(name of holder)

CGC060909  
(certificate no.)

In witness whereof, the bidder has hereunto set his signature and affixed his seal this 27th day of September, A.D. 20 16

  
(seal)

By: E. Tony Williams, Jr.

Title: Vice President

Type or print name of firm: Anderson Columbia Co., Inc

Address: P. O. Box 1829, Lake City, FL 32056

Contact person: Tony Williams

Telephone No.: 386.752.7585

Fax no.: 386.755.5853

